H BF: 2023%F1H298(AH) 2#8 K4 HSR e
17:30~19:05 1 mEs ¥ E2 ha 2:59.90
2 Bl BEK E2 ha 2:39.96
= 15 AR—Y7HhTI—HK 3 & Hm E2 5 2:49.30
(25m x 4L—2fE ) 4 B BER E2 4 2:52.46
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(NO.2)200m B HE#2
148 K4£ HSR e 3#H K4 HSR
1 1
2 AW BE E1 2 EE 2 =H fEt5 E2 6 2:47.66
3 ki DT iR 1 2:13.41 3 KX ¥k E1 2 2:31.25
4 ®E #£X E1 16 2:18.59 4 HM EFE E1 H1 2:38.02
5 5
(NO.3)50mB /R
148 K4 HSR e 448 K4 HSR B
1 1
2 AH it E4 N3 39.74 2 [ KBE Eir N5 2:35.88
3 FIB [F5h E3 N3 35.43 3 Bit AE Eik $3 2:25.02
4 BRE R E3 N3 35.44 4 KH =#H EiR §1 2:31.69
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2#8 K4 HSR e 5%H K4 HSR  E
1 =ik X E1 2 28.60 1 fRAE X E3 4 3:17.30
2 HH B E3 5 35.99 2 H) E2 ha 2:49.76
3 hix 5 iR &2 27.67 3 /K —4& E2 ha 2:45.14
4 & M@ E2 NG 31.79 4 Ky GH E2 N3 2:50.10
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348 K4 HSR e 648 K4 HSR
1 S & E4 h3 47.26 1
2 EF% R E4 3 40.79 2 SHl B E1 he 2:36.30
3 =B R E4 M3 43.75 3 §E BX E1 6 2:32.24
4 B EX E4 N3 55.79 4 LUHE #AH E2 5 2:44.74
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(NO.6) 100m ik E
4%8 K4 HSR 148 K4 HSR
1 HH KE E3 N3 37.73 1 #FME EE El 1 1:22.74
2 M+ Ef Ef N5 30.06 2 TH& BA EHE B2 1:11.23
3 {8 EK Ef 6 29.53 3 KB ZIFB BEiE B2 1:15.38
4 [FIER 15 E3 4 3457 4 KRx B El f2 1:18.25
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(NO.4)200mBEANARL— (NO.7)100m/\ 2754
148 K4 HSR 148 K4 HSR
1 Ly #0EE E3 N 3:33.78 1
2 g WIE k2 N5 3:01.81 2 =pE BEKX E1 b2 1:09.31
3 g B E2 N5 3:01.12 3 ¥E BX E1 N6 1:10.22
4 XH FE E3 NG 3.13.01 4 XKH =#H iR B 1:08.78
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(NO.8) 100m& k= (NO.12)50m/ 2754

148 K4 H5R i 148 K4 HSR

1 1 ZH)K = E4 2 56.51
2 B FE 'R B2 1:08.53 2 KH #=E E3 /N5 36.16
3 ¥ % E1 B 1:07.79 3 HF B E3 N5 38.75
4 4 g (XBHh E3 N3 41.66
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248 K4 H5R i 2%8 K4 HSR E

1 1

2 WE FBA @k $3 59.41 2 HE pTE E2 /N5 36.27
3 TH BA B B2 1:07.37 3

4 4
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(NO.9)400mB B2

1#8 K4 HSR e 348 K4 HSR  BeE

1 1

2 kW DE iR EES 2 PER B E3 4 43.70
S ARG Ef h2 EHE 3 /AR —& E2 N4 34.43
4 4
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(NO.10) 50mEjk ¥

148 K4 HSR e 448 K4 HSR  BeE

1 A #F E4 N3 1:03.17 1

2 LKy #BR E3 ha 51.80 2 LUE W E2 N5 33.89
3 BF I E3 N3 46.30 3 hE QE E1 F2 27.23
4 7Kk %E E4 h2 1:02.31 4 Hch Eth E1 N5 32.42
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(NO.14) 50my 5k ¥

248 K4 HSR 148 K4 HSR

1 1 AH 3Tt E4 3 4523
2 RKIu FZE E3 NG 46.88 2 EH EE E2 /N6 35.43
3 Bit B E2 N5 40.82 3 Bl BEK E2 N4 34.80
4 =i BER E2 4 4372 4 Kb FiZE E3 /N5 41.08
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3% K4 HSR 2%8 K4 HSR

1 1 Bl EBX E4 N3 59.48
2 RHE th E4 N3 57.63 2 EH KE E3 N3 46.35
3 E¥% E4 3 52.85 3 FE E4 N3 54.04
4 F & E4 N3 59.30 4 EpE R E4 N3 55.10
5 5
458 K4 HSR e 3#8 K4 HSR

1 1

2 fRE X E3 N4 50.85 IR E2 a4 38.43
3 XY G E2 h3 43.93 3 hft % E1 1 31.95
4 4
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(NO.15)200m 5 5k =

148 K4 HSR e
1
2
3 WE FBAN =ik h3 -11.61
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(NO.16) 100m B B2
148 K4 HSR e
1
2
3 MEA XX m 1 :14.87
4
5
2%8 K4 H5R
1 B G E1 h2 58.28
2 Nl 5 iR =2 59.13
3 XPF ClFp  Ek =2 58.76
4 B FE 2R =2 -00.53
5
348 K4 HSR B
1
2 2% EK E1 6 -06.07
3 Lk BX E1 N6 :06.23
4 SH| B E1 e :05.72
5
(NO.17)200M/\ 2754
148 K4 HSR e
1
2if HE Bk $3 -31.85
M ORE iR N5 -42.45
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